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( Revised New Syllabus )
Time : 2 hours

Full Marks : 50
The figures in the margin indicate full marks.

GROUP—A

1. Answer any five questions

2x5=10
(a) What do

you mean by law of
diminishing marginal utility?

{p) Define inferior goods with example.

{c) What do you mean by law of returns to
scale?

(d) Draw a demand curve when price
elasticity of demand is zero.

(e) Prove that marginal cost (MC)

is
independent of fixed cost (FC).
(f)y What would be the shape of indifference
curve when ' two

goods are
complementary to each other?
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Answer any two questions :

2. (a)

(b)

3. (a)
(b)
©

4. (a)

(b)

MR7/297

What will be the value of marginal
product (MP) when total product (TP) is
maximum? :

Suppose X and Y are two goods. As a
result of a fall in price of ¥, demand for
X increases. Here X and Y are—

(i) substitutes;

(i) complementary;

(i) non-related.

State reasons for your answer,

GROUP—B

Why does the demand curve slope
downwards from left to right?

What are the exceptions to the law of
demand? 5+5=10

What is budget line?
How is it constructed?

Why is it called price line? 2+6+2=10

Define cross-price elasticity of demand.

What are the determinants of the price
elasticity of demand? 2+8=10

{ Continued )

10x2=20 |

Answer any one question :

6. f(a)

(b)

(3)

Define total utility (TU) and marginal
utility (MU).

Discuss the relationship between TU
and MU with the help of suitable
diagram. 4+6=10

GRoOUP—C
20
What is indifference curve?

Discuss the properties of an indifference
curve.

(c) Derive the consumer’s equilibrium with
the help of indifference curve and
budget line. 2+8+10=20
7. (a) Show the relationship between average
cost (AC) and marginal cost (MC) with a
suitable diagram. :
(b)) Why is the long-run average cost
(LAC) curve called an ‘envelope curve’?
Explain with diagram. 8+12=20
8. (a) What is price consumption curve?
(b) Explain the determination of price
consumption curve and on the basis of
it, determine the price effect. 6+14=20
MR7/297 { Turn Qver )
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ECONOMICS (General)

SECOND PAPER
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Hime ; 2 hours Full Marks : 50

i ~ The figures in the margin indicate full marks.
i fon ¢ it
P GROUP—A
| 1. Answer any five questions : - 2x5=10

differences between GDP and

e
vestment multiplier?

) {8 the relation between value of
money and general price level?

. (d) Show that MPC + MPS =1.

Define price index number.

(€)
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(fl Define marginal efficiency of capital. ' ¥7. What do you mean by involuntary
unemployment? How does Keynes explain
(g9 What do you mean by full employment? this problem? 4+16=20

(h) What is induced investment? : i
8. Discuss the history of developing the concept

of money. 20
GRrRoOUP—B
Answer any two questions : 10%x2=20

2. Explain critically the Cambridge version of
the quantity theory of money. 108

3. Explain, with suitable diagram, how you can
derive savings function from consumption
function. 10

4. Critically explain Say’s law of market. 10

5. Explain Keynesian consumption function.

Show the relation between APC and MPC.
5+5=10!

GROUP—C

Answer any one question : 2

6. Discuss briefly the various methods of
measuring national income. 20
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j ‘
\ GROUP—A

I any five questions : 2x5=10

on two features of Indian human

o reasons for the backwardness
economy.

. two important objectives of

0 you mean by ‘dual economy”?

. two main pr_bble;ns of mral
India. ;

( Turn Over )



(2)

How is ‘poverty line’ officially defined
in India?

Give two reasons for the increase of ity one quest@q;}_ . w8 #0
inequality of income distribution in
India. ”'3 What do you mean by ne,mgatggr of
J agnculture?
(h) What do you mean by the agricultural B 1 - FBPR [
cooperative marketing society? b) How has this strategy increased
. inequality in income and wealth in rural
areas? 8+12=20
GROUP—B
L . Discuss the trend of population growth
Answer any two questions : 10x2=20 in India since Independence.
= LTANY] . ;
2. Do you think that Green Revolution has been | Discuss the relationship between
successful in (a) all crops and (b) all regions N population growth and economic
of the country? If not, then state the reasons. development. 10+10=20
Discuss the nature of dualism in Indian QR ichEingturel ot fhsefe
economy. nalization of rural credit in India.
expansmn of institutional credit
: eombriswrslond o yo ,
§ 4. Discuss the characteristic features of armers has not been able to
k underdeveloped economy with special tely eliminate the role of village
" reference to India. 10 lenders.” Do you support this
? t{? Give reasons for your
10+10=20

e

5. Enumerate the problems of measuring
z'.}a.tional income in India. What methods
are usually adopted for measuring national .
income in India? 5+5=10
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54

GROUP—A

wer any five questions : 2x5=10

1at do you mean by ‘break-even point’
of a firm?

What do you mean by oligopoly?
)gtinguish between pure monopo}y and
ary monopoly. Wi

rice discrimination possible under
'fect competition?

What is quasi-rent?

stinguish between money wage and
wage. MR B

Can VMP and MRP be equa.l under



LIS

(2)

GrROUP—B

Answer any two questions : 10x%2=2

2. (@) Show that a monopolist can get
supernormal profit, normal profit and
even negative profit in the short-run.

(b) In the long-run, can a monopolist incur
losses? 6+4=1

3. Show with a suitable diagram the
equilibrium condition of a discriminating

monopolist.

4. What is rent? D1st1ngu13h between
differential rent and scarcity rent with
examples. 3+7=1

|

5. Discuss the charactenstlcs of monopolistic

it
cenﬁpﬁﬁ’éian What are the similarities
between  monopoly and  monopolistic
- competitive markets? 5+5=1
GROUP—C
Answer any one question : 21

6. (a)

When does a firm reach equilibrium m
the factor market?

(b) Critically  discuss the  marginal
productivity theory of distribution.
10+10=2(

MR7/383 ( Continued}

. (i) both are equally strong.

ardian theory of rent?

(3)

an a trade union raise wage rate? If 8o,
in what situations?

~ In collective bargaining, what will be the

effects on wages when—

(i) employer is comparatively strong;

(i) trade comparatively
strong;

union is
8+12=20

ine the modern theory of rent. In what
does this theory differ from the
10+10=20
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ou S Full Marks : 50
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: 1
. GROUP—A

¢ any five questions : ; 2x5=10
‘{l; {"t is meant by variable reserve ratio?

hat is inflationary gap?

lt do you mean by devaluation?

stinguish between savings and
arding.

Define money multiplier.

Write two functions of commercial
banks.

( Turn Over )




! (3)

(g) Give two examples of direct tax. B o oot by oneditoreation MU

(h) Distinguish between quantitative and
qualitative credit control measures.

Explain  with limitation the credit
~creation by the commercial banks.

GROUP—B

AT 13 . 1 ;.-Discuss the credit control methods of
Answer any two questions : 10x2=3 central bank. 2+8+10=20
A i /
2. Distinguish between demand-pull and _
cost-push mﬂaﬂQn. ‘ 'rExplain Ricarde's comparative

' - ~ advantage theory of international trade.
3. Give arguments for and against indirect j

B How is it different from Adam Smith’s

 absolute cost advantage theory of trade?

5 4. How is the equilibrium rate of interest 12+8=20

determined in a 9oanable funds theory’?

S. Distinguish between balance of trade and
balance of payments.

GrouP—C
Answer any one question :

6. (a)

(b)

What is public debt?

What are the sources of public debt?

(¢) Do you think ‘that internally held public
| debt imposes any burden on the
community? 2+6+12=2

MR7/384 | ( Continued
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SEVENTH PAPER 1
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1ours Full Marks : 100
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( DEVELOPMENT ECONOMICS )

GROUP—A

swer any five questions : 2x5=10
What are tied and untied foreign aids?
_:i\Nhat is marketable surplus?

".‘.'-How do you define dual economy?

‘What do you mean by social capital?

Mention two objectives of World Bank.

‘What do you mean by backward

linkage?

What is the meaning of SDR?

Who are the member countries of

FOPEC?

{ Turn Over )
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GROUP—B

Answer any two questions : : 10x2

: GROUP—A
2. What are the adverse effects of population

growth on the developing economy? : any five questions :

: 1e the term ‘attribute’.

Explain the arguments for and against :
ta?

economic planning. _ t is secondary da

i f AM.
. Explain the concepts of HDI, GDI, GEM and e two properties 0
HPIL. ]

e frequency density.

Distinguish between economic growth and Vhat do you mean by ogive? =
economic development. What are the B : foll
. : . ange from the follo
indicators of economic development? 4+6=] culate the rang

lata : ;.-
GROUP—C B, 7, 9, 14, 19, 25, 28, 35,484

Answer any one question : What is class limit?

6. What are the different forms of foreign - Define pictogram.
!

capital? Discuss the role of foreign capital in
the development of the developing countries. =2 GrOUP—B .
b LA Wy two questions : 10x2=
Distinguish between labour-intensive and
capital-intensive methods of production. e
Which method of production would you ' Snndifn 48 8
support for a developing country like India? Ese 10 21 051 ) a7
Give reasons for your answer. 10+10=2 e 29, .26 Y :

| 8 30 30 60 59 15 7. 49
(@) Distinguish between balanced and %1 s5 32 4122 30 53

unbalanced growth. b R 19" 40 V43" 4 1? , 125w£ ,‘
(b) Explain critically the theory of balanced ct a frequency distribution t";b e
growth. - - 8+12=2( lass intervals 0-9, 10-19, 20-29 and so on.
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